The $_{v}A_{m}(a,b,c;z)$ function

Aleksandar Petojević

University of Novi Sad, Teacher Training Faculty
Podgorička 4, 25000 Sombor
SERBIA and MONTENEGRO
E-mail: apetoje@ptt.yu

Nenad Đapić

University of Novi Sad, Teacher Training Faculty
Podgorička 4, 25000 Sombor
SERBIA and MONTENEGRO
E-mail: ndjapic@ucf.so.ac.yu

Abstract

In this paper we define and study a sequence of functions

$$_{v}A_{m}(a,b,c;z) = \frac{1}{\Gamma(z+1-a)} \sum_{s=1}^{v} \mathcal{L}[s+b; \,_{2}F_{1}(c,a-z,m;1-t)]$$

where $\mathcal{L}[s; f(t)]$, ${}_2F_1(a,b,c;x)$ and $\Gamma(z)$ are the Laplace transform, Gauss's hypergeometric function and the gamma function, respectively. We give several properties of ${}_vA_m(a,b,c;z)$ including a discussion on special cases ${}_vA_m(a,b,m;z)$, ${}_1A_2(1,0,1;n)$ and ${}_vA_1(a,b,-z;a-z-1)$.

1 Basic definition

The Laplace transform and Gauss's hypergeometric function (Gauss 1812; Barnes 1908) denoted respectively $\mathcal{L}[s; f(t)]$ and ${}_{2}F_{1}(a, b, c; x)$, and are defined as [1, pp. 1019-1030]

$$\mathcal{L}[s; f(t)] = \int_0^\infty e^{-st} f(t) dt,$$

 $^{2000\} Mathematics\ Subject\ Classification$: Primary 11B34.

Key words and phrases: $_vA_m(a,b,c;z)$ function, $A_n(x)$ polynomial, Riemann Zeta function, Hurwitz Zeta function, left factorial.

and [1, pp. 555-566]

$$_{2}F_{1}(a,b,c;x) = \sum_{n=0}^{\infty} \frac{(a)_{n}(b)_{n}}{(c)_{n}} \frac{x^{n}}{n!} \qquad (|x| < 1),$$

where $(z)_n$ and $\Gamma(z)$ are the Pochhammer symbol and the Gamma function given by

$$(z)_0 = 1, \quad (z)_n = z(z+1)...(z+n-1) = \frac{\Gamma(z+n)}{\Gamma(z)},$$

and

$$\Gamma(z) = \int_0^{+\infty} t^{z-1} e^{-t} dt \quad (\text{Re}(z) > 0).$$

The hypergeometric function has integral representation (Euler 1748)

$$_{2}F_{1}(a,b,c;x) = \frac{\Gamma(c)}{\Gamma(b)\Gamma(c-b)} \int_{0}^{1} t^{b-1} (1-t)^{c-b-1} (1-tx)^{-a} dt,$$

in the x plane cut along the real axis from 1 to ∞ , if Re(c) > Re(b) > 0. Apart [1], the relevant theory on hypergeometric function can be found in Spanier and Oldham [18], Seaborn [17], Whittaker and Watson [20], Barnes [5] and Bailey [3].

We now introduce the following function.

Definition 1.1 For a, b, c, m and z are complex variables the function ${}_{v}A_{m}(a,b,c;z)$ defined by

$$_{v}A_{m}(a,b,c;z) = \frac{1}{\Gamma(z+1-a)} \sum_{s=1}^{v} \mathcal{L}[s+b; {}_{2}F_{1}(c,a-z,m;1-t)].$$

This function is interesting because its special cases include the Riemann and the Hurwitz zeta functions, the harmonic number of order n, left factorial numbers, etc.

2 Statement of the results

The Riemann and Hurwitz zeta functions $\zeta(z)$ and $\zeta(z,b)$ respectively, defined by

$$\zeta(z) = \sum_{k=1}^{\infty} \frac{1}{k^z} \quad (\text{Re}(z) > 1),$$
 (2.1)

$$\zeta(z,b) = \sum_{k=0}^{\infty} \frac{1}{(k+b)^z} \quad (\text{Re}(z) > 1, \ b \neq 0, -1, -2, \dots),.$$
 (2.2)

For Re $(z) \leq 1$, $z \neq 1$, the functions $\zeta(z)$ and $\zeta(z,b)$ are defined as the analytic continuations of the foregoing series. Both are analytic over the whole complex plane, except at z = 1, where they have a simple pole.

Theorem 2.1 Let $\zeta(z,b)$ be the Hurwitz function defined as in (2.2) and Re (b) > -1, Re (z-a) > -1. Then:

$$_{v}A_{m}(a, b, m; z) = \zeta(z+1-a, b+1) - \zeta(z+1-a, v+b+1)$$

Note 1. The harmonic number of order $H_v(n)$ defined by $H_v(n) = \sum_{k=1}^v \frac{1}{k^n}$, with $H_v(1) = H_v$. Applying Theorem 2.1 we have:

$$_{\infty}A_m(1, b-1, m; z) = \zeta(z, b),$$
 (2.3)

$${}_{\infty}A_m(1,0,m;z) = \zeta(z), \tag{2.4}$$

$$_{v}A_{1}(1,0,1;n) = H_{v}(n).$$
 (2.5)

In 1971 Kurepa (see [10, 11]) defined so-called the left factorial !n by:

$$!0 = 0, \quad !n = \sum_{k=0}^{n-1} k! \quad (n \in \mathbb{N})$$

and extended it to the complex half-plane Re z > 0 as

$$!z = \int_0^{+\infty} \frac{t^z - 1}{t - 1} e^{-t} dt. \tag{2.6}$$

Such function can be also extended analytically to the whole complex plane by $!z = !(z+1) - \Gamma(z+1)$. For m = -1, 0, 1, 2, ... and $\operatorname{Re}(z) > v - m - 2$ in [15] is given the generalization of the left factorial function:

$$_{v}M_{m}(s; a, z) = \sum_{k=1}^{v} (-1)^{k-1} {z+m+1-k \choose m+1} \mathcal{L}[s; {}_{2}F_{1}(a, k-z, m+2; 1-t)],$$

where v is a positive integer, s, a, z are complex variables. The special cases include (see [16]): the gamma function $\Gamma(z)$, the left factorial !z, Milovanovic's factorial function $M_m(z)$, the alternating factorial numbers A_n , the Riemann zeta functions $\zeta(z)$, the figured number $\begin{Bmatrix} z \\ m \end{Bmatrix}$, the $K_i(z)$ function and the Stirling number of the first kind. However, apart from n!, !n and A_n twenty-five more well-known integer sequences in [19] are special cases of the function $vM_m(s;a,z)$.

Lemma 2.2 For $\operatorname{Re}(z) > 0$ we have

$$_{1}A_{2}(1,0,1;z) = \frac{!z}{\Gamma(z+1)}.$$

Note 2. The function n! and !n are linked by Kurepa's hypothesis:

KH hypothesis. For $n \in \mathbb{N} \setminus \{1\}$ we have

$$\gcd(!n, n!) = 2$$

where gcd(a,b) denotes the greatest common divisor of integers a and b.

This is listed as Problem B44 of Guy's classic book [7]. A detailed bibliography is

given in Ivić and Mijajlović [8]. In [10], it was proved that the KH is equivalent to the following assertion

$$!p \not\equiv 0 \pmod{p}$$
, for all primes $p > 2$.

It is not difficult to prove the following result:

$$\gcd(!n, n!) = 2 \quad \Leftrightarrow \quad \mathcal{L}[1; \,_{2}F_{1}(1, 1 - n, 2; 1 - t)] \notin \mathbb{N}. \tag{2.7}$$

Theorem 2.3 For $\operatorname{Re}(b) > -1$ we have

$$\lim_{z \to n} {}_{v}A_{1}(a, b, -z; a - z - 1) = 0 \qquad (n = 0, 1, 2, \dots).$$

3 Proof of the results

Proof of Theorem 2.1. For Re (b+s) > 0 and Re (z-a) > -1, from

$$_{2}F_{1}(m, a-z, m; 1-t) = t^{z-a}$$

it follows

$$vA_m(a,b,m;z) = \frac{1}{\Gamma(z+1-a)} \sum_{s=1}^v \int_0^\infty e^{-t(s+b)} t^{z-a} dt$$

$$= \frac{1}{\Gamma(z+1-a)} \sum_{s=1}^v \frac{\Gamma(z+1-a)}{(s+b)^{z+1-a}}$$

$$= \sum_{s=1}^v \frac{1}{(s+b)^{z+1-a}}$$

$$= \zeta(z+1-a,b+1) - \zeta(z+1-a,v+b+1) .$$

Proof of Lemma 2.2. The relation

$$_{2}F_{1}(1, 1-z, 2; 1-t) = \frac{t^{z}-1}{z(t-1)}$$

yields

$$_{1}A_{2}(1,0,1;z) = \frac{1}{z\Gamma(z)} \int_{0}^{+\infty} \frac{t^{z}-1}{t-1} e^{-t} dt.$$

The result follows from (2.6).

Proof of Theorem 2.3. The identity

$$\int e^{-t(s+b)} \frac{(-1)^k (n+k)!}{(k!)^2 (n-k)!} (1-t)^k dt = -\frac{e^{-s-b} (n+k)!}{(b+s)^{k+1} (k!)^2 (n-k)!} \Gamma(k+1, (s+b)(t-1)),$$

where $\Gamma(z,x)$, the incomplete gamma function, is defined by

$$\Gamma(z,x) = \int_{r}^{+\infty} t^{z-1} e^{-t} dt$$

for Re (b+s) > 0 gives

$$\int_0^\infty e^{-t(s+b)} \frac{(-1)^k (n+k)!}{(k!)^2 (n-k)!} (1-t)^k dt = \frac{e^{-s-b} (n+k)!}{(b+s)^{k+1} (k!)^2 (n-k)!} \Gamma(k+1, -s-b).$$
(3.8)

The relations (3.8) and

$${}_{2}F_{1}(-n, n+1, 1; 1-t) = \sum_{k=0}^{\infty} \frac{(-n)_{k}(n+1)_{k}}{(1)_{k}} \frac{(1-t)^{k}}{k!}, \qquad (|1-t|<1)$$

$$= \sum_{k=0}^{n} \frac{(-1)^{k}(n+k)!}{k! (n-k)!} \frac{(1-t)^{k}}{k!}$$
(3.9)

yield

$$vA_{1}(a,b,-n;a-n-1) = \frac{1}{\Gamma(-n)} \sum_{s=1}^{v} \int_{0}^{\infty} e^{-t(s+b)} \sum_{k=0}^{n} \frac{(-1)^{k}(n+k)!}{(k!)^{2}(n-k)!} (1-t)^{k} dt$$

$$= \frac{1}{\Gamma(-n)} \sum_{s=1}^{v} \sum_{k=0}^{n} \int_{0}^{\infty} e^{-t(s+b)} \sum_{k=0}^{n} \frac{(-1)^{k}(n+k)!}{(k!)^{2}(n-k)!} (1-t)^{k} dt$$

$$= \frac{1}{\Gamma(-n)} \sum_{s=1}^{v} \sum_{k=0}^{n} \frac{e^{-s-b}(n+k)!}{(b+s)^{k+1}(k!)^{2}(n-k)!} \Gamma(k+1,-s-b) .$$

The result follows from that $\Gamma(z)$ is meromorphic with simple poles at z=-n and

$$\lim_{z \to n} \frac{1}{\Gamma(-z)} = 0 \qquad (n = 0, 1, 2, \dots).$$

4 Remark

The Legendre polynomials $P_n(x)$ are a special case of the hypergeometric function

$$P_n(x) = {}_{2}F_1\left(-n, n+1, 1; \frac{1-x}{2}\right).$$

Standard texts on the classical theory of $P_n(x)$ are Legendre [13], Lagrange [12], Bailey [3, 4], Abramowitz and Stegun [1], Arfken [2] and Koepf [9].

Analogously, according to the relation (3.9) we have

$${}_{2}F_{1}(-n, n+1, 1; 1-x) = \sum_{k=0}^{n} \frac{(n+k)!}{(k!)^{2}(n-k)!} \sum_{r=0}^{k} \binom{k}{r} (-1)^{k-r} x^{r}$$

$$= \sum_{k=0}^{n} \frac{(-1)^{n-k}}{(k!)^{2}} (n-k+1)(n-k+2) \cdots (n+k) x^{k}.$$

Hence

$$_{2}F_{1}(-n, n+1, 1; 1-x) = (-1)^{n} {}_{2}F_{1}(-n, n+1, 1; x), \qquad (0 < x < 1)$$
 (4.10)

so that, the following definition is reasonable.

Definition 4.1 For $n \in \mathbb{N}_0$ the polynomial $x \mapsto A_n(x)$ is defined by

$$A_n(x) = {}_2F_1(-n, n+1, 1; 1-x) = \sum_{k=0}^n a_n(k)x^k$$
.

The first few $A_n(x)$ polynomials are

$$A_0(x) = 1$$

$$A_1(x) = 2x - 1$$

$$A_2(x) = 6x^2 - 6x + 1$$

$$A_3(x) = 20x^3 - 30x^2 + 12x - 1$$

$$A_4(x) = 70x^4 - 140x^3 + 90x^2 - 20x + 1$$

The well-known sequences A000984, A002457, A002544, A007744, A002378 and A033487 from [19] are special cases of the sequences $\{a_n(k)\}_{k=0}^n$. Using the relation (4.10), for $n \in \mathbb{N}_0$ and $k = 0, 1, 2, \ldots, n$ we have

$$a_n(k) = \frac{(-1)^{n-k}}{(k!)^2} \prod_{m=1}^{2k} n - k + m.$$
 (4.11)

On the basis on (4.10) and the following well-known relation (see [1])

$$_{2}F_{1}(-n, n+1, 1; x) = P(1-2x)$$

equality

$$A_n(x) = (-1)^n P(1 - 2x) (4.12)$$

is valid. Hence, common characteristic of the polynomials $P_n(x)$ can be transfer of the polynomials $A_n(x)$. For example, the $A_n(x)$ polynomials are orthogonal over (0,1) and for $n, m \in \mathbb{N}_0$ satisfy the following

$$\int_0^1 A_n(x)A_m(x)dx = \begin{cases} 0, & \text{if } n \neq m, \\ \frac{1}{2n+1}, & \text{if } n = m. \end{cases}$$

5 Acknowledgements

This work was supported in part by the Serbian Ministry of Science, Technology and Development under Grant # 2002: Applied Orthogonal Systems, Constructive Approximation and Numerical Methods.

References

- [1] M. Abramowitz and I. A. Stegun, *Handbook of Mathematical Functions with Formulas, Graphs, and Mathematical Tables*, 9th printing., Dover, New York, 1972.
- [2] G. Arfken, *Mathematical Methodsfor Physicists*, 3rd ed., Academic Press, Orlando, pp. 637-711, 1985.
- [3] W. N. Bailey, *Generalised Hypergeometric Series*, Cambridge University Press, Cambridge, 1935.
- [4] W. N. Bailey, On the Product of Two Legendre Polynomials, Proc. Cambridge Philos. Soc. 29, 173-177, 1933.
- [5] E. W. Barnes, A New Development in the Theory of the Hypergeometric Functions, Proc. London Math. Soc. 6, 141-177, 1908.
- [6] P.L.Butzer, M.Hauss and M.Schmidt, Factorial functions and Stirling numbers of fractional orders, Results in Mathematics, Vol. 16 (1989), 147–153.
- [7] R. Guy, Unsolved Problems in Number Theory, Springer-Verlag, 1994.
- [8] A. Ivić and Ž. Mijajlović, On Kurepa problems in number theory, Publ. Inst. Math. (N.S.) 57 (71) (1995),19–28.
- [9] W. Koepf, Hypergeometric Summation: An Algorithmic Approach to Summation and Special Function Identities, Vieweg, Braunschweig, 1998.
- [10] D. Kurepa, On the left factorial function !n, Math. Balkanica 1 (1971), 147–153.
- [11] D. Kurepa, Left factorial function in complex domain, Math. Balkanica 3 (1973), 297–307.
- [12] R. Lagrange, Polynomes et fonctions de Legendre, Gauthier-Villars, Paris, 1939.
- [13] A. M. Legendre, Sur l'attraction des Sphroides, Mm. Math. et Phys. prsents a l'Ac. r. des. sc. par divers savants 10, 1785.
- [14] G. V. Milovanović and A. Petojević, Generalized factorial function, numbers and polynomials and related problems, Math. Balkanica, New Series, Vol.16, Fasc 1-4, (2002), 113-130.
- [15] A. Petojević, The function $_vM_m(s; a, z)$ and some well-known sequences, Journal of Integer Sequences, Vol.5, (2002), Article 02.1.7, 1–16.
- [16] A. Petojević, The $\{K_i(z)\}_{i=1}^{\infty}$ functions, Rocky Mountain J. Math., (to appear)
- [17] J. B. Seaborn, Hypergeometric Functions and Their Applications, Springer-Verlag, New York, 1991.
- [18] J. Spanier and K. B. Oldham, An Atlas of Functions, DC: Hemisphere, Washington, 1987.
- [19] N. J. A. Sloane, *The On-Line Encyclopedia of Integer Sequences*, published elec. at http://www.research.att.com/~njas/sequences/
- [20] E. T. Whittaker and G. N. Watson, A Course in Modern Analysis, 4th ed. Cambridge University Press, Cambridge, 1990.